
Math 244 (Summer ’15 ): HW 6

Problem 1
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dy dz dx. Hint: Change the order of integration.

Problem 2
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dy dz dx. Hint: Change the order of integration.
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Math 244 (Summer ’15 ): HW 6

Problem 3

Consider the unit sphere centered at the origin with uniform density (δ(x, y, z) = 1). Find the mass of this
sphere (it should agree with the usual formula for volume, 4

3πr
3). Verify that the center of mass is indeed

the origin by finding Myz, Mxz, Mxy and using the formula given in class. It may help to recall that the
unit sphere is given by the equation x2 + y2 + z2 = 1.
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